2 SNC J"()zjli%;;u(h&i/ ZEE)

Mg
. y BEAERNNBREREN| i -
ne BaGLE B Rt (N) wor | 29
(mm) I
230 i)
FRAE R /B2 RIFRIE
JC20-8-125 20 M8x1.25 300 0.5
JC30-10-125 25 .32 M10x1.25 800 0.5 -
JC40-14-150 40 M14x1.5 1250 0.75 B
JC63-18-150 50 - 63 M18x1.5 3100 1
HERRE SR/ AELTHFRIE
JC20-8-100 20 M8x1 300 0.5
JC25-10-150 25 M10x1.5 800 05
JC32-10-100 32 M10x1 800 0.5
| BEXTHE | JC40-12-125 32 - 40 M12x1.25 1250 075 | ..
JC40-12-150 40 M12x1.5 1250 0.75
JC40-12-175 32. 40 M12x1.75 1250 0.75
J C - 1 4-1 50 JC50-16-150 50 M16x1.5 3100 1
l l JC63-16-200 50 - 63 M16x2 3100 1
1% Z \ﬂ‘ 2 _\\
ﬁI:r_ —— I2SIFRAT (FRIE) EAEE 3
R |ies (,‘j;m . RO | EE SRS o
o
20 20 8125 | Msx1.25 & o =
’g 30 25 .32 10-125 M10x1.25 EREA | SE.IMPalyT A S -— s
7 | 40 40 14-150 M14x1.5 REFR EAR B %
63 50 - 63 18-150 M18x1.5 EREE —10~70°C
| SMER~THE | » M
M o B}Z’L‘\
JC20 ~ 63 a ‘
A\‘ ‘ ==
> % 7 1)
a
3% ) W
< - | E— ]
oj/ S "
B E P
R
A
FRAER SE. — 1MPa (mm)
. . M A B 5 = - . " Hols BABY | AF =AEA 2
¥ =9 U=t ™~ N~ e \; S
EEER Eile=s exaE] EE R ?T/\F;*f?c ﬁlljs ?_Lﬁjl kg
20 JC20-8-125 8 125 | 44 175 21 4.5 7 7 13 30.5 8 0.5 300 0.03
25. 32 JC30-10-125 10 | 1.25 | 495|195 24 | 5 8 | 8 | 17 |34 9 05 800 0.05
40 JC40-14-150 14 1.5 60 20 31 6 11 11 22 38 13 0.75 1250 0.12
50-63 JC63-18-150 18 1.5 74.5 | 25 41 7.5 14 135 | 27 | 475 15 1 3100 0.23
HERER SE. ~ 1MPa (mm)
AER 1] M alB|D|E|F|c|n|% ENER | dom| He |EB
7 =] - R S S
B - ZxEfE B i et o duy | s kg
20 JC20-8-100 8 1 44 175 21 4.5 7 7 13 30.5 8 0.5 300 0.03
25 JC25-10-150 10 1.5 495 | 195 | 24 5 8 8 17 | 34 9 0.5 800 0.05
32 JC32-10-100 10 1 495|195 | 24 5 8 8 17 | 34 9 0.5 800 0.05
32.40 JC40-12-125 12 | 125 |60 |20 | 31 | 6 | 11 |11 | 22 |38 13 0.75 1250 0.11
40 JC40-12-150 12 1.5 60 20 31 6 11 11 22 38 13 0.75 1250 0.11
32-40 JC40-12-175 12 1.75 60 20 31 6 11 11 22 38 13 0.75 1250 0.11
50 JC50-16-150 16 1.5 715 | 22 41 7.5 14 135 | 27 | 445 15 1 3100 0.22
50-63 JC63-16-200 16 2 715 | 22 41 7.5 14 135 | 27 | 445 15 1 3100 0.22




